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QUESTION 1

Dual hot standby, when the client does not receive packets sent by slave, after how many HRP HELLO packets, HRP
would think that peer has failed or is dead.

Al
B.2
C.3
D.5

Correct Answer: C

QUESTION 2

Under standby scene.USG hot standby, the service interface to work in three, down the line connecting the router
through an administrator to view, USG_A state has been switched to HRP_M [USG_A], USG_B state has also HRP_M
[USG_B] most What are the possible reasons? (choose two answers)

Untrust
222324
GEND/3
Ll ISG B
GEDD/A
PC1 a -
111324 Trust

A. HRP using the wrong channel interface
B. heartbeat connectivity problems

C. No configuration session fast backup
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D. no Hrp enable

Correct Answer: AB

QUESTION 3

When an attack occurs, the attacked host (1.1.1.1) captured the results below. What type of attack is this?

11113 s i

il Frame 16: 142 bytes on wire (1136 bits), 142 bytes captured (1136 bits) a
& Ethernet 11, Src: oell_a%:ed:ef (00:24:eB8:a0:eb:ef), Dst: HuaweiSy 00:f2:cB (D0:22:al:00
= Incermet Protocol versfon 4, Src: 1:1.1.1 (1.1.1.1), ost: 1.1.1.255 (1.1.1.255)

version: 4

Header lengeh: 20 byres

i oifferentiated Services Field: OxD0 (D5CP Ox00: Default; ECN: Dx0D: NOT-ECT (NOT ECN-C

Total Length: 128 |
rdentification: Ox2aff (11007} |
Flags: OxD2 (Dom't Fragment)
Fragment offser: O
Time o Tive: 128
Protocal: IcHe (1)

@ Header checksum: Dxcalc [correct]
source: 1.1.4.1 (1.1.1.1)
pestinarion: 1.1.1.255 (1.1.1.255)

= Internet Control Message Protocol
Type!: 8 (Echo {ping) request) |
code: 0
Checksus: 0xL7F7 [correct]
Tdentifier (BE): 13100 (0x332c)
Identifier (LE): 11315 (0x2c33)

_Enniantn nhemhor (8CY e EEEER FwARAEY

!

A. Smurf attack

B. Land Attack

C. WinNuke

D. Ping of Death attack

Correct Answer: A

QUESTION 4

The anti-DDoS device can implement traffic blocking or limiting to defend against attacks if the service learning function
discovers that certain services do not run on the network or the service traffic volume is small.

A. TRUE
B. FALSE

Correct Answer: A
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QUESTION 5

A user has been successfully authenticated using an SSL VPN. However, users can not access the Web-link resources
through the Web server.

netstat -anp tcp
Active Connections

Proto Local Address Foreign Address State

TCP 0.0.0.0:135 0.0.0.0:0 LISTENING
TCP 0.0.0.0:445 0.0.0.0:0 LISTENING
TCP 0.0.0.0:3389 0.0.0.0:0 LISTENING
TCP 0.0.0.0:9593 0.0.0.0:0 LISTENING
TCP 0.0.0.0:9594 0.0.0.0:0 LISTENING
TCP 0.0.0.0:9595 0.0.0.0:0 LISTENING

Using the information provided, which of the following is correct?

A. Network server does not have the Web services enabled.

B. Virtual Gateway policy configuration error

C. Virtual connection between the gateway and the network server is not normal
D. Virtual gateway and network server is unreachable

Correct Answer: A
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